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Questions

The always ............. back home late.

| soon returned home because | was upset. This is a:

Smoking is injurious to health. The underlined word is a/an:

Choose the correct option to the grammar
The boy laughs loudly. The underlined word is a/an:

Choose the correct option to the grammar
which s a/an:

Rehabilitation of the drug victim is possible.

Families consider it a taboo to talk about the problems of a drug abuser.

There was sounds of downy flake.

Drug addicts aware of the dangers of drugs.

Drugs are considered severely harmful for human health.

Choose the correct spelling:

Choose the correct spelling:

Choose the correct spelling:

Choose the correct spelling:

............. watching T.V since 7.P.M.

Answers Choice

A. come

B. comes

C. came

D. had come

A. compound sentence

B. simple sentence

C. complex sentence

D. compound &amp; complex
sentence

. progressive form of verb
. present participle
gerund

infinitive

ooOw>

intransitive verb
regular verb
transitive verb
irregular verb

oow>

. indefinite pronoun

. reflexive pronoun

. possessive pronoun
relative pronoun

SEe) P

death
injurty
recovery
counselling

forbidden
necessary
hindrence
threat

water fall
chirping
soft snow
singing

ignorant
unknown
well-known
well-informed

Dow» DOWP» DOWr DOWmP

useful
beneficial
injurious
helpful

herness
horness
harness
harnes

troble
trouble
truble
turble

cuorative
curative
courative
curetive

oow» OUOwW» UOW» OUOW»

domistic
doemestic
domestic
domastic

has been
have been
. Am

0ow> DomP



16

17

18

19

I had never .....

....... snow before | went to murree.

.... her work before the guests arrive.

He decided to .

I do not

..................... examination.

my meals at night.

c

will be

see
sees
saw

ow>

>

finished

finish
have finished

o0

B. taking
C. took

D. taken
A
B
D

. takes
. took

. taking



